Realiza las siguientes conversiones sencillas y dobles según sea el caso.
6 días=________144_____________hrs
40km= _______40000_____________ m
2000seg_______20000____________minutos
6300mts=_______6.3______________km
90km/h=__________25_____________m/s
34.65m/s=_________124.74_________km/h
900m=______________.9___________km
6horas=____________21600_________seg
12000mn=_________270,000________seg
63.4m/s=____________228.24________km/h
(90km/h) ( 1000m/1km)(1hr/3600s)
(34.65m/s)(1km/1000m)(3600s/1hr)
[bookmark: _GoBack](63.4m/s)(1km/1000m)(3600s/1hr)
